
19. MČR JEDNOTLIVCŮ v nohejbale muž ů 
Žďár nad Sázavou – 20.10.2012

Výsledek
1 A1 - A4 Michal Kolenský - Martin Krátký 10 : 2 10 : 3 : 2:0
9 A2 - A3 Jakub Boček - Matěj Medek 10 : 3 6 : 10 5 : 10 1:2
17 A2 - A4 Jakub Boček - Martin Krátký 9 : 10 10 : 9 10 : 9 2:1
25 A1 - A3 Michal Kolenský - Matěj Medek 10 : 7 10 : 5 : 2:0
33 A3 - A4 Matěj Medek - Martin Krátký 10 : 8 10 : 6 : 2:0
41 A1 - A2 Michal Kolenský - Jakub Boček 10 : 9 10 : 2 : 2:0
2 B1 - B4 Ondřej Pachman - Jaromír Poul 4 : 10 8 : 10 : 0:2
10 B2 - B3 Pavel Kop - Michal Doucek 7 : 10 10 : 3 10 : 6 2:1
18 B2 - B4 Pavel Kop - Jaromír Poul 10 : 8 10 : 8 : 2:0
26 B1 - B3 Ondřej Pachman - Michal Doucek 10 : 6 10 : 7 : 2:0
34 B3 - B4 Michal Doucek - Jaromír Poul 10 : 9 4 : 10 10 : 9 2:1
42 B1 - B2 Ondřej Pachman - Pavel Kop 10 : 6 5 : 10 7 : 10 1:2
3 C1 - C4 Tomáš Bíbr - Vlastimil Kubín 10 : 3 10 : 6 : 2:0
11 C2 - C3 Marek Vedral - Beránek Jakub 10 : 9 6 : 10 10 : 6 2:1
19 C2 - C4 Marek Vedral - Vlastimil Kubín 10 : 1 10 : 6 : 2:0
27 C1 - C3 Tomáš Bíbr - Beránek Jakub 7 : 10 10 : 5 10 : 7 2:1
35 C3 - C4 Beránek Jakub - Vlastimil Kubín 10 : 3 10 : 6 : 2:0
43 C1 - C2 Tomáš Bíbr - Marek Vedral 10 : 7 4 : 10 10 : 6 2:1
4 D1 - D4 Jakub Mrákava - Martin Čermák 10 : 3 10 : 4 : 2:0
12 D2 - D3 Ondřej Kurka - Dušan Ifka 10 : 9 10 : 8 : 2:0
20 D2 - D4 Ondřej Kurka - Martin Čermák 5 : 10 10 : 7 8 : 10 1:2
28 D1 - D3 Jakub Mrákava - Dušan Ifka 10 : 6 8 : 10 10 : 7 2:1
36 D3 - D4 Dušan Ifka - Martin Čermák 8 : 10 8 : 10 : 0:2
44 D1 - D2 Jakub Mrákava - Ondřej Kurka 10 : 3 10 : 7 : 2:0
5 E1 - E4 Václav Kadeřábek - Martin Šoupal 10 : 6 10 : 3 : 2:0
13 E2 - E3 Milan Smola - Martin Strejček 6 : 10 10 : 3 9 : 10 1:2
21 E2 - E4 Milan Smola - Martin Šoupal 10 : 4 10 : 5 : 2:0
29 E1 E3 Václav Kadeřábek - Martin Strejček 10 : 7 10 : 6 : 2:0
37 E3 E4 Martin Strejček - Martin Šoupal 7 : 10 10 : 8 7 : 10 1:2
45 E1 E2 Václav Kadeřábek - Milan Smola 10 : 7 7 : 10 10 : 5 2:1
6 F1 - F4 Ján Brutovský - Lukáš Nedelkov 10 : 5 10 : 4 : 2:0
14 F2 - F3 Petr Vít - Patrik Iláš 10 : 6 10 : 6 : 2:0
22 F2 - F4 Petr Vít - Lukáš Nedelkov 10 : 5 10 : 1 : 2:0
30 F1 F3 Ján Brutovský - Patrik Iláš 10 : 2 10 : 3 : 2:0
38 F3 F4 Patrik Iláš - Lukáš Nedelkov 10 : 8 10 : 5 : 2:0
46 F1 F2 Ján Brutovský - Petr Vít 10 : 8 10 : 6 : 2:0
7 G1 - G4 Karel Hron - Bohuslav Mareček 10 : 4 10 : 4 : 2:0
15 G2 - G3 Jan Vanke - Michal Janeba 5 : 10 9 : 10 : 0:2
23 G2 - G4 Jan Vanke - Bohuslav Mareček 10 : 8 6 : 10 10 : 7 2:1
31 G1 G3 Karel Hron - Michal Janeba 10 : 4 10 : 6 : 2:0
39 G3 G4 Michal Janeba - Bohuslav Mareček 10 : 8 10 : 6 : 2:0
47 G1 G2 Karel Hron - Jan Vanke 10 : 2 10 : 3 : 2:0
8 H1 - H4 Ondřej Vít - Vojtěch Sýs 10 : 3 10 : 8 : 2:0
16 H2 - H3 Marek Novosad - Lumír Gebel 7 : 10 10 : 5 10 : 8 2:1
24 H2 - H4 Marek Novosad - Vojtěch Sýs 6 : 10 10 : 6 8 : 10 1:2
32 H1 H3 Ondřej Vít - Lumír Gebel 10 : 2 10 : 3 : 2:0
40 H3 H4 Lumír Gebel - Vojtěch Sýs 10 : 5 8 : 10 8 : 10 1:2
48 H1 H2 Ondřej Vít - Marek Novosad 8 : 10 10 : 4 10 : 8 2:1


